EARAZROREIERT — 2 N—XBISY —F 201786878 (K) 6EIZHE2H

el bS5 334 3 IR 3 ‘(ﬂi}ﬂﬁ ‘[%iﬂ%Fsﬁ] — | & (@) 1400m F4E
[A&E£] 1 #&:250,000 @ ~ 237#&:63,000  ~ 3#&:2500M ~ 437#&:15000 @ ~ 5 & :10,000 M
B ®RBE mEBR Mk HE BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
Y6 FEUEZ—% 3 %gﬂ% 1:(3_1).8 6-6-5-1 [39.8| — | 1 :237) gg;ﬁ;é EE&)EE)
L:7A7% B4 Nn=— gilll IE%E
2078 |NTWix=F 1 — it 3 slﬁ“%gnﬁ 1:(322).2 9-9-9-6 (39.6| — 7| 434 igégﬁaé)
RiAAvagR—5— B:wILHTI— b (=1) EEZie
N : MBS PERY #o3 | L 1(73%:5 10-10-8-4 | 39.7| — | 9 | 469 %ﬁgﬁ%}(ﬁf%)ﬁj
RTHATY by he BAEY—LFq— @ gk mi
48|10 BVUTCTEFT - e i H433 404| = |3 | a0 | RS (RE)
L:Tv TRy b BT CETI v 2~ © LENie]
501]1|E—=F AN i3 sﬁiﬁofﬂ 1(:13/22.>4 1-1-1-2 [ 40.6 | — 4 | 447 ﬁ}g@?;ﬁg?
RTPAVIT B:Vavs I O g w3
N PICEEES 4 3 gg%zg: 1(:33/%6 7-7-6-5 | 40.3| — 8 436 g;?i z&(%EE)
RTFETANE—5 BHLRAHFA—> 2| Gl m s
7155 | 7V TRV IR o3 | AMHE 1:(35,).4 5578 (411 — | 2 | 463 ﬂx(g@%y(%f@)
Q:O-KPNF 17 BiEa-F171 ®) | g Et
Y : RESEN % 3 | A=A (11:313/.27) 8-8-10-9 |40.8| — | 10 | 435 z;;g% (BHE)
QT ITRAFIEN BH LRI -2 ) gk e
9l8lg|EvZENY 3 ﬁ{l(l)ﬁﬂﬂ 1(733@7 3-32-7 |41.8] — | 5 | 454 i‘ggz (BEE)
RiFhv<71248 B3Iy FRF¥vy 7 (-2) MEZ &Y K
. B3 | AZmizE 1:35.2 2-2-3-10 |43.3| — 6 463 |SMRBX (BHE)
EH 2| FTV=TAVH> ¥¢53.0 @) (1) |SBEBmLE
RFTU—I59 BFrlU—N—I— R 7 — A
® 1 — @B
13—74— 1,2,9,10,5,6,7,3,8,4
20—F— 1,2,9,10,5,6,7,3,8,4
Ja=5= 1,9,(2,10),6,7,5,4,8,3
43 —F— 6,1,10,4,7,8,9,5,3,2
[ /N
B OB 6 130 | | 74 K 6-8 920 B 6-7 1,940MH &R 4-6-8 26,210
B B 6 110H 4-6 1,740H B = 6-8 4,090 JEE 6-8-4 62,980/
8 5004 4-8 13,830H B E 6-8 5,470M
4 1,500

ABICOVWTRDTEEERROODE. TR LIV,



